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DO Ny 'N THIQ
DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO.

QUESTION BOOKLET
Time allotted : 1 hour

Full marks : 100

All questions carry equal marks.

AR

Question Raoklet Serial No.

INSTRUCTIONS

- This booklet consists of 24 pages including thig
front Ppage. Verify the page number of the
Question Booklet on each page. If there is any
dlsn?nf:pancy, bring it to the notice of the
Invigilator. This Booklet contains questions in
2 languages: Bengali and Nepali.
. Answers will have to be given in the special
answer sheet (OMR Answer Sheet) supplied for
the purpose, which consists of two pages. Donot

I€ar or separate any leaf of the OMR Answer
Sheet,

: Eefure you proceed to mark on the Answer Sheet
Il response to various items in the Question
Booklet, you have to fill in some particulars in
the OMR Sheet. Y ou must also write the Question
Booklet No. on the Attendance Sheet. Do not
fold the Answer Sheet as this will result in
error in your marks.

. All questions have four probable answers (A),
(B), (C) and (D). Find out which of the four
answers appears to you to be correct or the best,
Now darken the circle corresponding to the letter
of the selected answer in the OMR Answer Sheet
with Black Ball Point Pen as per instructions
sent along with the Admit Card and the OMR
Sheet.

. If more than one circle is encoded for a particular
answer, it will be treated as wrong answer.

. Vith of the allotted marks (i.e. 0.25) will be
deducted for each wrong answer.

. There are blank pages at the begining and end of
this booklet for Rough Work.

. The OMR Answer Sheet (both pages intact)
should be handed over to the Invigilator before
leaving the Examination Hall. Candidates are
then permitted to leave the hall with the
Question Booklet. The special answer sheet
(OMR) is the property of the West Bengal
Police Recruitment Board and must be
returned to the Invigilator.
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1. ‘ot R s ¢ Refond afefmy
U — afb Weve o @

AL #ON
55
(D) faet

WMWIWWW ot
[ F M 779 77

(A) 598

(B) &=

(C) =eft
(D) S

/

2. MBI @A =1l MEDITERRANEAN
*%(bq 74l (ofd 41 I 19
(A) DINNER
(B) MEDIATE
(C)_READER

D) JARRANGE

% 9= MEDITERRANEAN ¥ 211
TS Wi ?
(A) DINNER
(B) MEDIATE
(C) READER
(D) ARRANGE

3. SR ARYA Gwe IS 1 T e
ﬁ.w.w
B+ wezaea (=F
~(C) ISR e
(D) 72 IEESE AN
FHET REE dfaure fum Afs?
(A) To &f. IR, ITASH
(B) WaETRIEI 1%
(C) arermer fae
(D) TER TecTqHTs 9ee

KO/LL/WDhBE(Frelim )/ &sUed

4. &l ofFaa 6 G FWCA TG (average ) T
25 q%A | SIFR WY F® FATA A 5 T87 | T

BT Y HOTWE IO E 36 Iud fem 7 ;@
8

(A) 24 o

(C) 26

(D) 30

% uftEarE 6 9eEE S (average) IHT

25 74 B | T W1 FS TEl S5 99 & | S
S TE GeETeEe A (average) T8 Hd
foan?

(A) 24

(B) 28

(C) 26

(D) 30

5. @A AREET ©E 524 A ‘Leaf is
green’, 351 A9 ‘Green and blue’ @32 438 ST
‘Sky is blue’ SIZ(# ‘Leaf’ @ ‘is’ T'ﬁﬁmw

W gl’f “q‘ﬁ’ec'h_
[B} zm EEI 5L cxd blie

C) 4awzg 1L8 SL()I s lohug,

D) 28 |_eal -

P o
T"“ﬂ@wmﬂﬁﬁzﬁﬂm ‘Leaf is

green’, 351 Y= ‘Green and blue’ 317 438 =)

‘Sky is blue’ & W ‘Leaf ¥fy -
TR Tie? = 18" T S

(A) 2 19 4
(B) 2 #f71
(C) 4 3f7 8
(D) 2 ;17 8

[Please Turn Over]
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6. (T SFARC YI9| (@l SIHELE T 2 7
(A) GIaTE
(B) WiEmor=igw
(C) ARG
(D) AR
FeT 3 R i s A Hie?
(A) B
(B) iz
(C) wEdrsm
(D) &A™

a+2b=5,a+4bV =13TFA ab="
(A) 2
(B) 7
(C) 11
(D) 3
a+2b=>5,a’+4b" =13 ¥ (then) ab =?
(A) 2
(B) 7
©) 11
(D) 3

ot

9. foz wra «af cnerd @9 10 fafar /451 |
e g (downstream) (TR 10 967 150
fofir vy wifea A | @IS S (upstream)
G vy e AT (MO T UG H FNNA?

(A) 30
(B) 24
(C) 28
(D) 20

fror et A3 Tfd 10 km/hr B | SEAEH
(downstream) BT T3¢ 10 S92rH1 150 km 1 g0 74
T4 | STTETHT (upstream) T IS FHA U TN
T+ Ffa v Tme?

(A) 30

(B) 24

(C) 28

(D) 20

10.

(A)

(B)

11
16
7

16
11. T3 @ aibes 1 HasauE S FFena

(90° citel) fwaet orav e

(A) 21 (=1 16

(B) 21 (¥ «&wd

(C) 21 ¢ ferms

(D) 21 (= g

e e 57 fae gaer syres e et e
sz (90°) fam fem?

(A) 21st 7TE

(B) 21st AHHE

(C) 21st feamaR

(D) 21st 31

(C)

(D)



12. &% & @Sw ofoi T TANTH 10% @
20% IACE! @32 (1R 37 10% TS 9,900 B 27 |
CR IfF Iom o bt fee

(A) 10,500
(B) 12.500
(©) 15.200
(D) 11,500

T fHH T 10% 1 20% TR 3 G

el | A 10% 73T Rs. 9,900 T4 | 79 =famay

eTa Fia w04l 8?2
(A) 10,500
(B) 12,500
(C) 15,200
(D) 11,500

13. FAGTE A0 AT @ TINA @
baweiRioTa Wy et =, Gt @i i S
Tafes ¢

(A) 1905
(B) 1907
(C) 1908
(D) 1906
FiaH g AT SEt T A
favrem %7 g o foEr?
(A) 1905
(B) 1907
(C) 1908
(D) 1906

14, mmﬁaﬁﬁi :
C, Y,?
afEx 7
(B) G

©) X
(D) H

(5)
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15, sere (Simplification) M1 A<y 2= 2

c+a a+b

b+c

+ -
(a-b)c-a) (a-b)b-c) (c-a)b-c)

(A) 1
(B) 2
€ -1
(D) 0

Freia T 89 (Simplification) :

b+c c+a a+b

- +
(a-b)c-a) (a-b)(b-c) (c—a)b-c)

(A) 1
(B) 2
€ -1
(D) 0

16. A, B 43 C TS  : § 1 5 TS YA
fafems 3@ Ia9E i 11,700 B e 3207, B
S Ol AT ?

1A
(A) 2700 oS (s
(B) 5400 e L)
(C) 3000 LN ""‘l. !4"1'1..* "Lﬁ\
(D) 3600

ﬁ,ﬂtcﬂmm%;%;%m

SFHEH TN T ATH Rs. 11,700 w4 B &1
IEH FHa w94t ww gre?

(A) 2700
(B) 5400
(C) 3000
(D) 3600

1. 873x873x873+427x427x 427
&73x873- 873x427+427x 427 =7

(A) 13
(B) 11
(C) 1327
(D) 12
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18. 3afe afue p-az i Wi afq
T 1399 2 @@= e

(A) Q
(B) S
OT
(D) R
{iSTt SUiTen P’ ) Al o g9 av T
tfa Tifed o a8 v aof 9 &
(A) Q
(B) S
T
(D) R

19. sifaeirea &om 75 = Ae gl
(A) 1526
(B) 1564
(C) 1761
(D) 1556

Yrtaae 2rE 3% Hieer o ford?
(A) 1526
(B) 1564
(C) 1761
(D) 1556

20. 1015 st w2t 716 928 2wz 8 w<h @ 3
60 it w2 b wfil sra Fare itz 1 257 o @ 14 A
o@T% 12 901 3G (2 I 9 G4 F1E IS WA IS

AT ? A
(A) 100 #;,,1 . %
(B) 85 g P
(©) 80 Al
(D) 90
1071 a1 7 SER s wvar sm R 60 feam

sifir oig 999 1 4fE 25 TE T 14 et 2 12 5o
I T VA, T FEE 9 S 0 T #fa o wme?

(A) 100
(B) 85
(C) 80
(D) 90

21, (! *zafd ST (I AT HAFT?
(A) ATSEN
(B) wy&ir
(C) w=arg
(D) o%ar®
Il IR YRR A ToTH 37
(A) T
(B) WeAWeH
(C) Herg
(D) T

22. 324 x 150 = 54, 251 x 402 = 48 &

523 x 246 = 120 T 735 x 866 =? Y,
(A) 200 /"
(B) 180
(C) 320
(D) 300

324 x 150 = 54, 251 x 402 = 48 37

523 %246 =120 FH A 1 735 x 866 ="

(A) 200
(B) 180
(C) 320
(D) 300

23, % AE oK AW W T8N e

sif¥e T 7

(A) 1947
(B) 1971
(C) 1990
(D) 1962

T A @ ufEee e wes aen

A YT 77

(A) 1947
(B) 1971
(C) 1990
(D) 1962
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24, rif FRoteter SIS wtera (sterzmaprass

27. awa fare sifem a1 @999, “ A 27 e
AW e DR R ©R | AN T (T T
(A) TAFTHEA R (A) @ |
(B) «fafErma afice (B) Yurel S
(C) =N #ife (©) =
(D) (o7 (5%
(D) IS ©fF
ma;;iw' T S e e TR B TS v A B e B
' ' T W H 7
(A) THIE 791 (A) FH
o) N (B) HHH BU
(C) N &HE 7
D) T (D) HHEE B
25,
@ @ @O 28. s=ae] acfrened Fdfm o ¢
AL, CO, ER, GU, ?
(A) (B) (©) (D). (A) JY
Sta i Baf &), 1 ¢ e g (B) 1Y
oo o aa ¢ i (C) IX
"It e 7 faser w@reh, s oy =sen (D) IX
™ e R E R R ——
A a O AL, CO, ER, GU. ?
(B) C (A) TY ‘
Eg E (B) 1Y
. (£ I
(D) I1X
26. WPTE (Breathing Root) iba (i B
ot 1 1
m:ﬁ;ﬁﬁ 29. @AW =% ey awa ¢
(B) e (A) =i o
(B) =+
(C) I (C) Coreawa
) (D) Fza=
fm 7 g7 ME/eTeR wW HH T
(Breathing Root) #2877 THER w1 q=n TSR
(A) 'ﬁgﬂ (A) ﬂﬁl'ﬁ'ﬂ"l
(C) urh Trsfiey (€) Fm
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30. wife sifEaET (R TR SRS
(A) @
(B) &7 St
(C) Wi Srafas!
(D) wiifErst

ufed TS T HerRvW I9feyd 87
(A) T

(B) I TRfE

(C) = spafta

(D) Afo=

31. 13435223341567462325725
679
Boraa ifdiire Touf Al S IR S
o o428l @ o3 +aSH ieat qfba e T
(A) 3
(B) 5
(C) 6
(D) 4

1343522334156T4ﬁ2325T25
679

el e SEE Hay Ge 3 T
o g a1 1 & ufes Tere 9m 5

(A) 3

(B) 5

(C) 6

(D) 4

O Uk

(A) Ffare< (Solidification)

(B) aeAre<w (Vaporization)

(C) ¥area (Condensation)

(D) #jm:fiAean (Regelation)

9 (Pressure) fEU e IerS =M (Pressure)
R S ST 31 SR G | T HACTS &
g a7

(A) Heffewraad (Solidification)

(B) W9UEe&A (Vaporization)

(C) #Ie785A (Condensation)

(D) Uiterdd (Regelation)

@aE el ey 39 ¢

257\_‘;6;[; 34,47
(A) 13 iydl=

(B) 34
(C) 47
(D) 23

e W& Ul TEe
2,7,43,23,34, 47

(A) 13

(B) 34

(C) 47

(D) 23

@IEE A ar Afe e Targae ¢
(A)

(B) fzmarz

(C) 7E

(D) ¥

forg A % FROTS! SACH YHIEY a7
(A) T

B) femal

(C) 99K

(D) 9



35. A“ﬂ“‘ﬁmlﬂﬁmmmagﬁqw

1
gamﬂaAﬁtﬂ'ﬂmmﬁ:ﬁrﬁB‘uiﬁmmml

AﬁBMWWﬁﬁmmE?
(A) 10
(B) 15
(C) 18
(D) 12

Aﬁmngmﬂmlﬂﬁqmqﬁi
Aﬁmzﬁﬂnﬁmgﬁn%ﬁw@ﬂ1
afe A 1B & fer @i mmmmmiﬂ
9/

(A) 10

(B) 15

(C) 18

(D) 12

36. DA @G FAUTE TFB I TAIZI?
(A) STHLFIRG
(B) fasizd
(C) 6
(D) TRpfemm
orm T W ] S SRR S H E
(A) T=THES

(9)
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37. ife FrN Ay @i @ et g
AR FefH @@ o (2GrE e s v

(A) ifam
(B) «fafem
(C) =i%rafeal
(D) cferm

F WA T vt S e 3
SYETZ TITH 817

(A) wifeamn

(B) fafeaan

(C) =t

(D) &

38. ToATE A I R ojae 3 ¢
Aa_aaa_aa a_aa a b

(A) bbabaa e i a{‘w, E"/M

(B) bbaabb N
(C) aabbab A= - AT

(D) bbabba
T Tuie el 3 iy

4a_aaa_aa_a_aa_a b
(A) bbabaa
(B) bbaabb
(C) aabbab
(D) bbabba
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J5EN < ST AT, > ST AT, 2’ T ey
S ion) @AM ? 41. ‘< I @l <> M
B e GR ‘=" YW Sl A 2<4>3232=8=2#3>4<2
713 31 63
8716 40" 80 93 T T ?
7 (A) - 22
i (B) - 14
. (€) 14
(B) —
0 (D) 22
(C) 63 ‘< TR Afey/aT A, > AF HegEE
BU m:‘fmffﬂuﬁ,*fqﬁqm,wglﬂﬁ
(D) B 2<4>3#32=8=2#3>4<2 Hed &d 77
0 (A) =22
T 2 1 T 97731 el 399 (fraction) B17 (B) - 14
(C) 14
7 13 31 63
8'16 40° 80 (D) 22
7
Ay —
(A) 2
31
(B) 20
63
Y
(C) o
13
Dy —
(D) e

42. 5% 79 A € B9 TCTT SIS (ratio)
&1 6 : 7 9 5 I%A N Ofor e SeArE 273
8:91 A-97 ITIR T TS 927

(A) 30
40. T =iz = @y (B) 40
(Y GRivD (C) 25
(B) it \9) 3
(C) farfze 5 7 31 A TBH TEH 3T9M (ratio) 6 - 7
(D) Are fera 15 =1 Wi e A 59 8 ; 9wAmIA H
iy yegE! 31 F A2 afee! I i 37
(A) FAafa (A) 30
(B) WHTTHAL (B) 40
(C) yifed (L) 23

(D) T= (D) 35



43. 8a°-(pb)’ = (2a - 3b) (4a’ + 6ab + gp2

gAp="
(A) 2
(B) 4
(C) 5
(D) 3

(11) RB/LC/WBP(Prelim)/2023

)

8a’ - (pb)’ = (2a - 3b) (4a’ + 6ab + 912

i1 (then) p="?
(A) 2
(B) 4
€ 5
(D) 3

44. 2*4*9 = 41681, 3*5*7 = 92549

8*%5%6 = 642536 (71 9*7*3 =7

(A) 71499

(B) 81449

(C) 71449

(D) 81499

2%4%9 = 41681, 3*5*7 = 02549
8%5%6 = 642536 THI B W1 9%7%3 =7

(A) 71499

(B) 81449

(C) 71449

(D) 81499

45, forom @F ArEsE erR TEdl
(A) SreF
(B) e
(C) =
(D) GrA™
ferdie 3 TreTge e T o
(A) FEAL
(B) gee@vs
(C) vy
(D) Ham

EH

#H

46. T s i Siea @@= agba gz
(g

(A) @Y
(B) ft==T

@) Sy

(D) Sl

fore ST Fel W1 B U YA §97

47. A @ B-99 7€ (average) =@ 3300 o/ | B
@ C-«3 91G (average) WH 30005191 @92 A8 C-99
5 (average) ST 2700 GBIl | femea 5fC oI F©
BIRA 2
(A) 2800
(B) 2900
(C) 2700
(D) 3000

A TB =l 34d (average) 3 Rs. 3300,
B 1C i Rs. 3000 S A TC i 3154 (average) AT
Rs. 2700 & | Hi- SiH1eh a1 Hfa w941 87

(A) 2800

(B) 2900

(C) 2700

(D) 3000

48. T5a = G R (writ) TH?
(A) Ra™ T+
(B) i fere foiowis
(C) Afbeaf
(D) IS
e feua 3 w3 '@’ (writ) B2
(A) THIH Fdg
(B) T &Y TN
(C) |feArr
(D) WEmH
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49. 3 35 FRE et 50 B w@ael 4o 7
(A0 g SfoTe 9o 7N Tdl BF I
©ITHa siferas are 5 Bl e e 6 Rfv/avrza
3 951 AR, SN TR 3G IO (P T2

(A) 15
(B) 20
(C) 21
(D) 17

e §aR g grdiee A A1FH 50 km
1 gl ST U AT o |97 foritesenl T e
5 km/hr T 6 km/hr ® 94, 3 5va1 ufs foiies o= #ia
km I g0t §197?

(A) 15

(B) 20

(C) 21

(D) 17

50. vz W BT FEGne EEES

ALFO?
(A) PNO,
(B) PSNO,
(C) SNO,
(D) KNO,
o foum 3@ 9E A AfEEE AR

TEEE gA Bl
(A) PNO,
(B) PSNO,
(C) SNO,
(D) KNO,

(12)

51. e 3 o RS YA oF oS ST 121
sHefSa e 36 A9 FE FAoT TE T T
oifZaEa 3 | WA FO?

(A) 62
(B) 26
(C) 43
(D) 34

& s de siE oA 128 (A
T 36 7 T 9 s AEI T R T
4 T =i 82

(A) 62

(B) 26

(C) 43

(D) 34

52. ;wel Affe @M 4Ig SrerEe &) e
(A) ™
(B) G
(C) & o=
(D) =
&3 @F F UigH  wfEg 87
(A) HTH
(B) §1
(C) @il 9

(D) @l
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53. P'Qﬁ?‘ﬂtﬂﬁwﬂsmmmw
ek 2560 D91 2000 5101 % 9317 R
7@ | TAT (I3 llﬂﬁﬁmwiﬁ‘ P, 320 B

eI I | SR TS R % vt iyt .
(A) 4280 o

(B) 4820
(C) 4028

(D) 2840

P, Q & R o SR §& R | P 1 Q & 3
Rs. 2560 T Rs. 2000 =t 7 = —
RS.IIﬂﬁWWIPﬂWWmm
Rs.ﬁiﬂﬂﬁflkﬁﬁﬁ?&w&mmg?

(A) 4280

(B) 4820

(C) 4028

(D) 2840

54. ARIARFN AW @ &Y (A T =
(A) PRI
(B) 7=
(C) TRreter=t
(D) WA
YA BH 3 afoEr fres?
(A) Tregei
(B) ¥emd
(C) TRIeHT
(D) 9uEs

55. e @ @A A Al qib (P AAmI
TAEw 7

(A) Rifersm ==

(B) sy fowra

(C) cotsireigae (olreTe

(D) =l sErfe A2

TTET ST A e e
(A) Tafyeg o=

(B) aremimmeR feerh

(C) virdreregent et

(D) e T
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56. ﬁﬁﬁﬁ:@mﬁm::mw?
(A) afe
(B) 2arat
(C) <if=m
(D) wifE!
fafgfadt ; smfer & ?
(A) Tfern
(B) T

(C) &
(D) 3=

57. (ToIG oRcH (AF FFES (@l FE

GRS I ?

(A) T

(B) Fo&

(C) I

(D) Feral

A gaN T "ae 5o Fofafan 3
AT Y &2

(A) fmen

(B) T

(C) YF¥at

(D) TR

38. O =12, MOM = 40 932 FAN = 60 277

~ HAND =?

(A) 61
(B) 81
(C) 91
(D) 71

O =12, MOM = 40 #f1 FAN = 60 =1 &)
94 HAND = ?

(A) 61
(B) 81
(C) 91
(D) 71
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3¢ w7 ?
59. v catel g-fog FLOH TR

(A) 5
(B) G%

(C) geraf#

(D) =i ;
for st o ST TR ST B
(A) 3]

(B) 3

(C) TeTahrdt

(D) S5

T & T AT

(A) 43
(B) 53
(C) 34
(D) 35

61. (i fobifits Reroras ar bireas o

(A) fobffm-A
(B) f&bifim-D
(C) febfim-K
(D) febifim-C

%7 forenfia 4 T et 2

(A) firemiF-A
(B) firemEH-D
(C) fyeni=-K
(D) fyerd=-C

(14)

62. (A o sy HORSE @& 3718s
CHAIR % 0394] ge

AP T T, 63 oy RESEARCH (% & 5,
oM T4 3y

REPORT G 152716 o

E SHAR
(A) 15869103 "S‘E?‘% S 0314
({E;) 15869104 RSPOR T
(C) 15859104 e
(D) 15859103 p s o peC W

\ |16 3
31 Frema s Hﬂ%’laga@ 37185,

CHAIR #1 0394 a1fy REPORT &% 152716 Wi

¥ RESEARCH =T #wt 7o Tfes?
(A) 15869103
(B) 15869104
(C) 15859104
(D) 15859103

63, =GeT I (TR0 ?

(0-5)%, V049 , 0-008 , 0:23
(A) (0-5)

(B) V0-008

(C) 023

(D) V049

T v T R % A
(0-5)%, V049 , Y0-008 , 023
(A) (0-5)°

(8) V0008

(C) 0-23

(D) V049
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64. T 1 AT (U afaen sifisw foray
Wﬂrmmmmmcmmm
(W A TR A 50 B ety oy ey
o121 A S YOA TG 80 b1 @ 30 iy
Lﬂﬂ@ﬂﬂmﬁlﬂﬁ@i{mmg?mmﬁ
R Sfed (3 s e

(A) T
(B)
(C) s

(D) wfe

M A =R e ofem fiw 40 firey
ZEA AR Hﬂﬁuﬁuﬂﬁtmﬂ%ﬁamgﬁzgﬁg

ufe HR gFTe= Al T Fw: ofet 80 firer mm iy
30 fert e 1 fe Rt i feem e | sefey
A Fl 9fe Tl 87

(A) I
(B) 7@
(C) fray
(D) afaor

65. fore1 s ojpag a6 TEE 7B 50 957 1 9%
8 I forere adue T AW 2E U9 O
TR T LA 110 I57 | SIKFa I6AR WA I
qEar

(A) 36, 14
(B) 45,5

(C) 40,10
(D) 35,15

AR BRI BT S ArTel 509 (B
I T A IR dE e IR
AR 110 §¥ | e T SN H A7

(A) 36, 14

(B) 45,5

(C) 40,10

(D) 35, 15
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66. @&w AAreE c=i A6 ot srarea @i
e S ¢

fagm TuvrR w9 frad 3 vias 4 19w
Fafeem 92

(A) el

(B) @tea

(C) T g

(D) #fem

67. SR 9= swfzEn e 7 @ o
AR <o, O 2= @2 sEafzar g S
3 T 7{F ZH (SN WE |7 G IS IR S
e

(A) B

(B) =

(C) SRf

(D) =1

T U] Hfeclens SEiet S araaen
¥4, 7 @ Afgerl U wm B af I en
fa wr™ | S e aEm— e

(A) TETEt
(B) Terdt

(C) vz Bt
(D) Bl

68. THSTTH2 Mugza Mep= o afere o1 o4
(TS FANA! (TS 9 ?
(A) 2ywaE
(B) H1=ig=
(C) RS
(D) P

TR AIER T 3215 wiE?
(A) WuEg=H
(B) TAMYH

(C) tpufa
(D) =t
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69. 9D a3 | bl ¢ 50 ofon frferc b 52
‘Iﬂimlmwﬂaﬂﬁumin}ﬁ:sm,ﬂﬂ
#2141 T WA WE?

(A) 12,40
(B) 24, 28
(C) 16,26
(D) 20, 32

uge T | wiEr T 50 e o | faeE
# Fo "Wew 52 ©) afg fodees geaw AT
(ratio) 3 : 5 &1 v fafir= W whvae faawes
w17

(A) 12,40

(B) 24,28

(C) 16,26

(D) 20, 32

70. 6351 97 K (T FESHA AT A5 FACH
casrepe @ 2ol (perfect square) e zra »
(A) 39
(B) 9
(C) 29
(D) 49

o HE A 9= HE @ 8N 6351 7 9y
T U2 yuiat (perfect square) 9§57

(A) 39

(B) 9

(C) 29

(D) 49

( 16 )

71. mmmmwmm.
A. BTIoerE (Appointment letter) |
B. ©iref (Income)
. ﬁ'ﬁﬂ{Examinmiun}
D. W+ (Application)
E. 'PfETﬂﬁT{I:',ducatiﬂn]

(A) ECDAB
(B) ECDBA
(C) EABCD
(D) EDCAB

T Ruw w=werrd odte ad=r @m
[ESIES

A, ﬁgﬁb‘ﬂi{.ﬁppuinuncm letter)
B. smeErt (Income)

e, 1’lﬂiﬂ{E:n:El,tl'l.inau'm:m:.i

D. &= (Application)

E. fa#m (Education)

(A) ECDAB

(B) ECDBA

(C) EABCD
(D) EDCAB

72. #fEqed FIRETER CF AMEH (PP B ?
(A) =i
(®) e



(17)

73. T AR SrEm o wfi S zg,
I o S 5, FE 1 I @, e o
E W, T N W T o mefir
O E TP A

(A) i

F1 FE W T4 A A D 9, A9
A 3, FEl A R, 0w A R e e
A AT AR A R E R v

(A) &

(B) &0

(C) =

(D) e

74. 6466849 g3 F55F (square root) = = 2
(A) 2643
(B) 2623
(C) 2743
(D) 2543

6466849 F e (square root) Tl T3]

(A) 2643
(B) 2623
(C) 2743
(D) 2543

RB/LC/WBPF(Prelim)/2023

75. (@ TS A T3 303 € 207 F I8 T
Ty (W2 3 SIS (Remainder) 4R 7
(A) 12
(B) 17
(©) 15
(D) 20

9 T4 w21 g e €, 9 303 1207 7
ym 72l 3 sft (Remainder) §97

(A) 12

(B) 17

© 15

(D) 20

76. 1550 51 % ©itst [oe =3 5% 922 8%
IIta &9l A4E 3 =2 23 300 5= AW (interest)
#eT| (57 | S gL Fo Gl ?

(A) 800,750
(B) 850,700
(C) 1000, 550
(D) 900, 650

Rs. 155053 e fawfee i 5% 18% ==
=i 5oy s 3 =9 ufe Rs. 300 =14 (interest)
WH 59 | g8 VT Sid ge9 (§9a0) 7

(A) 800,750

(B) 850,700

(C) 1000, 550

(D) 900, 650

77, @ == ey o
(A) ==
(B) 7=
(C) covemif+
(D) e

e e T TR
(A) T
(B) =@

(€) et
(D) feit
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78. TEENEA STE ANACS AR (FWD A
wi ¥
(A) ZFwarda
(B) AWZj
(C) Wi
(D) “THEH
TS THEE ] e A9 4 509

(A) Teen T
(B) =R
(C) “Hereiet
(D) TufaEH

79. A, B @ C o=t #e g @b Grams! 18 &
»j¢f 27 | femB 751 a0 6 f3fih Bora =19, C 1 3% 21
5F A @ B wel w131 (G1amweifo 24 FifRTs < 28 | C 7
iz (bramsilh <4 20e @@ WG 7 anera ¢

(A) 30
(B) 24
(C) 32
(D) 36

A. B TC di=aa wEgel 18 foem zagl v
o9 | 98 TEyEE 6 e W TR 9 C WEy A= i,
24 vtz A T B 210 =argt wfn &ia fiqen ¢ &
gt wad?

(A) 30

(B) 24

(C) 32

(D) 36

(18)

80. “i5ee &AA, B, C, D 92 E (517 T3 v
fir® 74 o3 TR AR E, A '€ D 7 TRRITE A7,
A B @3 T I0A0E | C 93 AT 3141 A0 2

(A) ASB
(B) E€D
(C) ASE
(D) B€D

utas #2%E A, B, C, D @7 E, &
ST 35 TR AR B | E, A 31 D B atam
TIA, B H 21 909 91 C & Ui F1 H THH 57

(A) A& B

(B) EafA D

(C) ASHE

(D) Ba&fAD

81. 3% ura & 2% Gt @’ T#7 2900 B |
4% w14 e 37 BRTm eIl 760 4200 516 1 17 5o
@ 11 GRra @i 37 ¥ b7

(A) 300

(B) 1500

(C) 1300

(D) 1000

3 FH1 T 2 2aeTa el Jr9 Rs. 2900 €1 14 et
1 3 cawie! F6 Hed Rs. 4200 81 T30 &6 1 03

FHIF F1 qed Fia T34 87
(A) 300
(B) 1500
(C) 1300
(D) 1000

82, (@waY CEFT @W e wafEe?
(A) TZarwe 2o
(B) ‘TR
(C) &6 =il
(D) TEas
Ferery fad vam 77 T smafeem 97
(A) fevmae wem
(B) IR
(C) W Ug FYHR
(D) IATEE



(19)

g3, &a@ 4G (I
(A) i
(B) Gl
(C) i
(D) W
1 TF AT Mg 7
(A) HrEam
(B) ¥4
(C) =i}
(D) wFgl

84, A, B,C, D @E b 247 5145 A, B a7 (i
<t 7% E 9 (A0S #9  C, B 97 (4= #7191 | D, B
9 (AT AITO! g A R (AT TR | (3 HaUTE A

(A) A

(B) C }

(C) D

(D) E

A, B, C, D, E tfesi @reflg® §711 A, B W=

g @ @ E W STE 81 C, B W1 ST $1D, B
V] T BT A I AT B | HH W T 57

(A) A uf@f‘ N |
B) C B f,;.j &
(C) D ©

(D) E

85, fargerefs faemma 3 © (Face) AT
(A) 3
(B) 3
(©) 6
(D) 4
it froma i e (Face) €97
(A) 3

(B) 3
i &
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86, 1'+ 27+ 3+ ..+ 10°=3025%F 4 + 32 +
108 + ... + 4000= "7
(A) 12000
(B) 11200
(C) 12400
(D) 12100

1427 + 3%+ ...+ 10°=3025 97 (then)
4432+ 108+ ... +4000="

(A) 12000

(B) 11200

(C) 12400

(D) 12100

87. A A Fremaa 7 Wi 93 o
war ifee o fire qag wmE e @ e e
GlSUCAd Y A | Wi S e e 3R
wiaeg sl e 26re oF e, TR
IR S g e el 2 A S (5 aeE
wtarat Atf e wra | @ e W Sfee 26

(A) TEa-+ff5x
(B) Taa-o
(C) w4
(D) w5

W ST AR e ok 31fH 2 e A weEe
el k31 B e Sf wem s e gl wee
@ | vfgen o T ww qfs = wm Tk e e
A W T et O st wre SR S fof et
arfeet et % faan ok fezdsiy

(A) T of=m

(B) 3 g4

(C) aftgor g&

A% :rﬁm oo — ——
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90. 400059 Care S oIS A cargfire

88. w6 ez 51570 (HCF) & aALe (LCM)-¥
0% Are a9; SehE 10% Ffere Ty zam

SR 24, W b farmees 2 20, A A4

wer o2 350 A1 2 | (RS FHF T 51l ¢
(A) 3 (A) 1200
(B) 6 (B) 1800
(C) 8 (C) 2400
D) 4 (D) 1500

T S w= T (HCF) F T Rs. 4000 =1 srerme o wie, SErems 204
mﬂcmmmﬂlﬁgﬁamﬂm A 37 BT 10% Wﬁwﬁ%w
g@m‘mﬁlﬁdﬂ'ﬂ%ﬁmmﬁrﬁﬂﬂﬁﬂ?

2 §9 WA, T g Y oy
(A) 3 % 1500
(B) 6 ©) 2400
© 3 (D) 1500
(D) 4

91. Jrew ol o 718 weanfb fef o

| e T feremé & o e e TR -
89. ety GRme CiERT Afew! & FE 1 159
(A) 019 SO BTN ? 4
(B) =16 FigS /
(C) G G 185 - 9
(D) 14 TEemm (& /
ﬂﬁmﬁ@aﬁmﬁmﬂmﬁ 90 b 20
z? h
(A) T AT &H (A) 370
(B) T FeI™ (B) 276
(C) e Aere (C) 436
(

D) mﬁf‘ﬂﬁﬂﬁi‘ﬁq (D) 376
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92. WIAGANR AR W @R e
R

(A) (51|

(B) =

(C) =ggo

(D) e

TR 6T 4 it g o g
(A) =ren

(B) vewra

il ERla s TR T S ——
TEqy

(A) 60
(B) 62
(C) 65
(D) 58

i T i sty 6
(A) 60
(B) 62
{C) 65
(D) 58

94. A1 @m POLICE *Mfbee GAKIQN

(*141 01, ‘6% ©f1 Gt ARREST =r#fbra a3
ST T A7

(A) VGQPTY
(B) PTYGVQ
(C) YPGPTV
(D) VQGPTY

FA W POLICE & GAKIQN #fa
W W WIE1 ARREST W22 &6 W a7

() VoQPTY  pOLICE

(B) PTYGVQ |
© yreprv A RRZST

(D) VQGPTY
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95. arpfes frdswamma (Natural Selection
Theory) 2% (a7

(A) (@rEs

(B) =y

(C) e

(D) BFf wraBEn

WH{TF T4 fagE (Natural Selection

Theory) waam &1 fug?
(A) HvEm
(B) #mm

(C) ==
(D) =Fd =fds

96. e @fb wrera woe cewrz e oifire

SR H T Tag (AT ], Telta @3 wagm ore g,
SRR i 4l oy ¢

(A) #ffEgem (Reflection)

(B) wergald #4elfEw M (Total Internal
Reflection)

(C) Fmgast (Diffraction)
(D) #f&a9 (Refraction)

ﬁﬁiﬁﬂﬁﬂmmmmw
e 2 | A e 3 e

(A) wiafa= (Reflection)
(B) 3% =t wfafaa (Total Interna)

Reflection)
(C) faads (Diffraction)
(D) #19&d7 (Refraction)

'™ . TS —
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97, stamet wenf fadfa o9

4 7
SUERL U
(A) 109
{Bj_ 149
(C) 179
(D) 199
i T T TSge -
4,9, 19, 39, 49, 99,7
(A) 109
(B) 149
(C) 179
(D) 199

(22)

09, (& @tra et OIS CTo% P,
(A) T 79

100. T S AfFE 6% TF FE 7 (simple

interest) 3 (4 Fqrade (Principal + Interest
3540 5121 26, 7% (interest) ¥ NGk

(A) 450 PR
(B) 580 rTz"1®
(C) 640 25407
(D) 540 i

69 G e (simple interest) T &
3 T Rs, 3540 ¥ (Principal + Interest) A
w4t =0 (interest) €97

(A) 450

(B) 580

(C) 640

(D) 540




